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- Section_A: Muttiple Choice {36 marks}

'Questién 1 1o 18 _car;ry 2 marks each.

For each question, four options are given.

One of them is the

correct answer. Choose the correct answer and writé its number in-

‘the brackets provided.

1. 20 less than 710 is

1) 690

- 2) 708
3) 712 : '
4y 730 ( >
2. Armnge the numbers in ggf:endina order.
R36 683 638 863 B
1) 0638, 683, 863, 836
2} 638, 683, 836, 863
3) 863, 836, 683, 638
4) 836, 863, 638, 683 ( )
3. The sum of 38,579 and 105 is
1) 436
2) 684
3) 712
4y 722 ( Y

s



4.  Which of the-fo.ll:o.wing.has. The, reatest valae? =

1) 2fives
2} 10 twos
3)  8fdurs | o
4y 7 threes - )

5. Look af the diagram below. The mass of the box 1s

1) 105

2) 125

3) 225 | -
4) 505 4 )



6 groyps...oflj =_

1) 6+3 |

2) b6xb6x6 -

3) 3+3+3+3+3+3 | -

4) b+6+H6+6+6+6 - : e

et

-Wﬁéf-f’rac’r.ion of the 'foﬂ-ow.injgx f:gure rs not shaded?

R

5
2} %

SN | )

2x4i-| |-2o

n 6
2) 8
3) 12

=4



10.  Which onz of the following-;_.hq.wsgtht%_ia_n‘f the figure is shaded?

3
11. There are . more straight lines than curvés in the

figure shown below.

n 4

2y 2

3} 3

4 6 ¢ )

2
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12. Study the patterns below carefully. How many squares will there

13.

be in the 5™ pattern?

15t | . znd . 3rd 5.“‘
patiern pattern pattern pattern
) 13
2y 14
3) 15 _
4) 16 « )
Jason has ___ altogether.

e

jason

1)  %$6.10

2) $770

3) $810 |

1) $'8.15 ' : ()

Lh

27



g
A
%

15.

4) 100 - (

B 80 m ¢

The .’to.’ral_lehg’rh of the longest side and the shortest side‘of the

1) 40

2) 140
3) 160

T 4) 240 | ()

o 2 litres. . J

The capacity of a mnk i< the same as the To.fal:cquci-’ry of5
staller. containers. The total “capacity “of 10" similar tanks is .
- __litres. - R

1) 10

2y 20
3) 50

et

go



16.

17.

A-I i bought ._a T-shirt. He gavethecash:er Two $10 nafesand
received $7 in change. How much did the T-shirt cost? e

D $3
2y  $17
) $3 | |
4y $27 C

Fimmy took half an hour ’rz; do his - homework and started watching

~ his favourite TV:show-at 12.15:pm: At:what tim e did Jimniy-begin

18,

» _- Subtract 177 from 809. Theanswerrs |

doing his 'h_bme'wolrk?

@
Jimmy began

~ doing
tomework

1} 1145 am.
2) 145 p.m.
3) 1245 am.

4) 1245pm. | )

2y 732
3) 772
4) 986 | o { )

Ry



Section B: ‘Shor-t Answer Q_eshons (34 marks)

B _"Questmn 19 to 35 car'ry 2 mar‘ns each
Write the correct answers in the boxes prowded

19, Write the number in words.

RPT

120 Using any.of the 5 digits given/below, form the smallest possible
3-digit number. Each digit cah only be used once.

&2‘



22. Each egg weighs 50 g. The mass of the tin of ceffee powder is

Coffee

Which Set shows a lesser amount?

i -
Set S I shows a lesser amount of money.

-G

3



24.

25,

70 C ]

———

There are ‘ ] ]

\ sqdares altogether in this diagram.

18

| A
vAY
What number is represented by IQQQ[} ?

-10 -

-

S



26. Dan and-Matthew live in the same block of flats. Dan lives on the
4 storey: Matthew lives on ’rhe, _1_2"*‘ storey. Haw many storeys are
there between the two boys'> (Hint: Draw a picture.) |

27, $2.00:= - ‘:'SO—cenT coins

'_‘;‘-"-

28. e
]

(- : @? @’ﬁ) % @}k}
. | 0 -
g L\_J U . L

Cylinder -
% % ) (P
40 litres @;ﬁ? % @ iﬁ?

The capacity of the cylinder is the same as the total capacity of 8
similar mugs. If the cylinder can hold 40 hrres of: water, what-is
the capacﬁy of one such mug? L J
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29.  Mrs Krishnan bought 4 boxe

ifi each box, how many cooki

; cookies altogether.

. Th.eﬁe'were( |

6. 236+ l tens = 336.

31 Circle the smallest fraction.

32, 500+30 = 400 + 120+ ‘ .

n
R

es of cookies. If there were. 6 cooktes

IIE.S._ ware fhere a!Togeth:r‘?_ L

36
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The graph below shows the numbertiof. ch:ldren at-the. park from_
Monday to Thursday Study |’r carefully und answer Questmns 33 Te 35

Monday

| Tuesday

O...

Wednesday -

- Thursday . O

O@.O..

Each stands for 4 children. -

33.

34,

On Thursday, there were 7 boys and
the playground altogether.

girls at

There were 4 more children at the playground on Monday thanon

I

Plaggond

The least numbe.pféf children at Thdaraﬂtwas on

S

- 13-

37



- Section. C: Wer’d Prablems (3. marks,- 3

:ﬁQueshons 36 ‘to 41 carry 3 marks each
Queshons 42 to 44 carry 4 marks each.

Read and complete. ¢ach story sum carefully Show- your workmg
: 'clearly i the space pmwded

36. Jane has 452 s‘ramps She has 147 smmps less ’rhan John. How
' ‘many starmps does John have? (3m) |

B w"fkm -

37 After Slendon's mother gave him $388, he had $455 How much
did Glendon have at first? (3m)

Working

- 14 -



38. Jack has 6 coins.and they add up 1o $1. The coins are either 10¢
or 20¢. HOW many. 10¢ coins daas Jatk h&ve? (3m) '-
- (Hing: b .aw a 'tabia } S e

39. | Eelicia and Bernard have 323 stickers alfogefher.”Felicia has 225

stickers.
(a) How many . stickers does Bernard: have? { 1m)

- Weorking

(b) How many more stickers -‘d_des Felicia have
than Bernard? {2m) | | B

-5 -



" 40 Tn the year 2005, Trene was 12'years old: She s tiice as old as

“her brother then. How old will her brother be inyear 20082 (3m)

41. Mother bought a pizza. She ate 2 of the pizza and gave  of it 1o

the neighbour. What fraction of the pizza was left? (3m)

Working.

16 -

Woﬁking_



42, Mrs. Tan sewed 2 big flowers and 4 smalt flowers on each dress.
When she has sewed. 10 big ﬁowers how. ﬁany ﬂcﬂers would she
have sewed al’rﬂge -her*'? {4m)

rBIQ ﬂawers - { 24“4 - | - ) : cen] --
| Stall flowers 1418 j e

43. Kim has the same number of books as Sarah. Ben has 98 books.
 The three children have 118 books. a!fogefher How many books

does Kim have? (4m)

Working

%r



“

$3

Mrs Lifn bought 3 mangoes and 15 apples. How much more did she
spend on the mangoes than the apples? (4m)

N - End éf.PdpeF o
@ Have you checked your answers? @

O -

Setter: Ms Angeline-Chan
Vetter: P2 teachers 2007
S 18-



A C S PRTIMARY SCHQOIL - PRIMARY 2 MATHEMATICS . 2007
SEMESTRAL ASSESSMENT {2} :

j= TN e LU S SO PR A B

9.

10.
11.
12.
13.
14.

15

16.
17.
18.
19.
20.
21.

22.
23
24.
25.
26
27.
28.
29.

30,

1 31)1/12
2 32)10
d 3335
3 34)Wednesday
.1 35) Thursday
2 36)452+147=599
3 - John has 599 stamps
1 )
4 37)455-388=67
2 He had $67 at first
2 —
3 " 38)YJack has 2 10¢coins
4 . _
3 ' 39)a)o8
.4 b)y127
1
1
i .
nine hundred and eleven _
203 ' 10)12=2=6
6+3=2
v _ He will be 9 years
old.
400
.B 41318-2=06
10 6—3=3
4 . 3/8 of the pizza
.7 storey was left
e
5L - | 42) 20+10-30
24 - She sewed 30
10 flowers in all.

22

=TF =2
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43)118-98=20
2042-10 -
Kim has 10 books.

“”i44)3x$3=$9

15+3=5H

5%$1=%5

$9-55=54
—She—spend—S—more——

She spends $4 more.

Lot
Sy-
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